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Disks are objects in steady state . They are gaseous objects, so we
need to solve the equations of Hydrodynamics in a centralpotential
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This quantity ¥23 has dimension of L2 ,
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so GII must have unit of frequency . It is the Keplerian
angular frequency

rk I ✓GI
R3

So is the disk
.

sole height ,

7/ plRizk plr) e- ZKHZ

-

Notice that c = RH and r -- Rr
,
so

¥i E- E =L
.

At the position of Jupiter , Te 180K and r = to km/s

C E 500 wits
,
and

,

thus ¥ = 0.05 .

.

T
'

n .

(his
,

y is usually called h= AIR disk aspect. rat?
-

i



Check that dish gravity does not impact structure:
tin
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But beware of more messive dishes
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